
Air ConditionerAir Conditioner

A0756

A0903

A0912

A1062

A1151

A1756

C0467

D0117

M0039

T0019

T0019

T0019

T0040

T0061

T0047

V0001

A0696

A1354

A1354



◇Part List (Model Code : AVXCMH036EA )

Location Part Code Part Name Specification SA/SNA

A0696 DB93-03717A ASSY CONTROL IN CO,Inv,24K,-,220V,-,-,-, SA

A0756 DB90-01010A ASSY COVER-DRAIN CH140EZM,NEW 4WAY CASSE SA

A0903 DB94-00826A ASSY DRAIN PAN TH060EAV,4WAY-MINI SA

A0912 DB94-00846A ASSY DRAIN-HOSE -,-,L249,N,R410A,-,TH060 SA

A1062 DB96-05354D ASSY EVAP-UNIT AVXC4H140EA,4WAYMINI SA

A1151 DB94-00812A ASSY FAN-TURBO SH060EAV,MINI 4WAY CST SA

A1354 DB94-00281B ASSY-HOLDER PIPE AVMKH020B13,1-WAY SA

A1756 DB93-04122A ASSY PCB MAIN MINI 4WAY, DVM PLUS 2,H/P SA

C0467 2301-001378 C-FILM,LEAD-OTHER 3500nF,+10-5%,450V,BK, SA

D0117 DB31-00303A MOTOR DRAIN-DRAIN PUMP PLD-12230SH,220/2 SA

M0039 DB31-00305A MOTOR FAN ASS035WTVA,MINI4WAY- PJT,1A,50 SA

N0027 DB60-30010A NUT-FLARE -,-,HEX,7/16-20UNF,-,-,-,-,-,- SA

N0027 DB60-30010C NUT-FLARE -,-,HEX,3/4-16UNF,-,-,-,-,-,- SA

S0019 DB60-30004A SCREW-MACHINE FL,-,-,M6,-,ZPC(YEL),SWRCH SA

S0025 6002-000527 SCREW-TAPPING TH,+,-,2S,M4,-,ZPC(YEL),ST SA

T0019 DB65-00029M TERMINAL BLOCK -,-,-,-,-,-,- SA

T0019 DB65-00029Z TERMINAL BLOCK TH060EAM,PS,4-SCREW,250V SA

T0019 DB65-00182A TERMINAL BLOCK SYSTEM,PC-3025N1(V0),SCRE SA

T0040 DB32-00066E THERMISTOR EVAP-IN 10kohm/℃,3%,1,bronze SA

T0047 DB32-00029K THERMISTOR-EVA OUT -,10Kohm 25'C,-,-,-,- SA

T0061 DB32-00067D THERMISTOR-WIRE IN PCB 10kohm/25℃,3%,1, SA

V0001 DB62-04065A VALVE-EXPANSION BODY DPF(Q)1.65C-06-RK(E SA

V0001 DB62-04067B VALVE-EXPANSION COIL QA(M)12-RL-05A-RK(E SA


